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6. @S- T 100

5%%%#@?@?#?——5

[ 1217327,

This question booklet is divided ing,

WUT- U5 Hog-a two sections — Sectlon-4 gpg
Section-B.

frrd @ frdf so gwat @T FAT
I afart @ (v@w ¥ R

757 & 6.

In Section-A, there are
100 objective type questions, out of
which any 50 questions are to pe

4
f

) answered ( each carrying 1 mark, 3

1 W Freifea &)1 Targ g m First 50 answers will be evaluatejf C

TH & IW F W ygw 50 I by the computer in case more thap y
T 5? G PEIST FRT ferar 50 questions are answered. For

ST QB 3 F IGeTE FOF T answering these darken the circle

OMR 3IT-73% H 3 7@ ggt miet
F Ad / FA arr 97 I IR

with blue / black ball pen against
the correct option oan OMR Answer

Sheet provided to you. Do not use

# | EE St BT F BT/ whitener / liquid / blade / nail

T Wl /  &E / YT M ete. on OMR-sheet, otherwise the
FT IAT-YIeTwT & TqhT wear gy result will be treated invalid.

& or=rerr v#arr gRomy  smr=r

ghmi

7. WUE-§ § 30 719 I TT 7.
e @ st 15 got @1 s= v
g Afard F _Grdwm & fore
237 [HIRT &) I 5% SR, 7
Gus 7 8 gid IwiT gy 9
& o @ Reat 4 ovt @7 =
F & (7= & T 5 s iR
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In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered (each carrying 2 marks). -
Apart from these, there qre 8 Iong
answer type questions, out of
which any 4 questions are to be
answered (each carrying § marks).

. Use of any electronic appliances is
strictly prohibited.

-

24/A/XI1-5001 124740 Page 2 / 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

E [ 121/327 |

WYY - 3 ; gECTION - A
aqhTS W Objective Type Questi?ns
vy s 18 100 7% & 737 & ayer g frrew Re 710 & forrd & o w2t 1
Msoﬂ*ﬁf%f&m#mgﬁwaﬁﬁmﬁomsﬁzwﬁﬁw
FI 50 x 1 = 50

Question Nos. 1 to 100 have four opﬁons, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OBJR ‘sheet. _ . 50x1=50
1, Tqb y =2x +35mxa3x omwﬂ}maﬁm%

® 3 | ® -3

© 3 - @ -3

- 2 : A
The slope of the tangent to the curve Y =2x“+3sinx at x=01s

1

By 3 B -3
© 3 D) -3
2. U 99 ® BsA1 r = 6 cm W r % Oy Saed A dREd B I
(cm? /cm ®) 2 |
(A) 10m - B) 12=
(C) 8= D) 11=

The rate of change of the area of a circle with respect to its radius

r (incm?/cm) at r=6cmis

(A) 10=m - (B) 12=
(C) 8= _ D) 11n=n
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3. aRwuead Astk prar @ A
A} P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0 |
D) P(ANB)=P(A)+P(B) |
If events A and B are independent then
(A) P(ANB)=P(A)P(B)
(B) P(AUB)=P(A)+P(B)-P(ANB)
(C) P(AUB)=0
(D) P(ANB)=P(A)+P(B)
4. 5276 B A 6 T ¥ T aeAE Rreeen H wriewar
@ 5 SR RS-
| 1
© =5 o %
The probability of drawing a king from a pack of 52 cards is
' a4
A 13 . ® T3
© =5 | O
5.  P(A)=%,P(B)=%, P(ANB)=1= P(B/A)=
A = B =
A | \_(,,) =
I - -4
@ 5 @ 5
) - i
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6w 6 B 10 TR I ey ) v &: Rt 31 B sifren 2
1)° 7
W c(3) ® °c(3)

@ cul3) o e (4]

A coin is tossed 10 times, The probability of getting exactly six

heads is
0 1 4 1
w 0o(3) B °c(3)
8 10
10~ (1 10~ (1
(©) % (5) (D) € @]

7. P[A} ler[B]mllr'P(AUB]"—_:?P(AnB)—

B i1 B)
© o =
8.  xy-ad ¥ GHELE
A x=0 B) y=0 .
© z=0 " o wHIwT
The equation of the xy-plane is |
¥ x=0 . B y=0
(C) =z=0 (D) none of these
9. -3t F Rg-wreard ¥
(A) (1,0,1) B) (0,0,1)
(C) (0,1,0) D) (0,0,0)
- 24 /A /XI1-5001 -(34/40) Page 5 / 32
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10.

11.

12.

13.

| [121/327
The direction cosines of z-axi8 &rc
A (1,0,1) JB (0,0,1)
() (0,1,0) (D) (0,0,0)
frgatt (4,3, 7)3(1,-1,-5)F M HFH2
Ay 13 (B) 15
© 12 D) 5.
The distance between the points (4, 3,7 )and (1,-1,-5)is
@& 13 B) 15
(€) | 12 D) 5

I(x+co:32x)dx =

| : 1
(A) %xsin2x+é—cos2x+c (B) -2-x31n2x—zc052x+c
2 . _
x°  sin2x
(C) 2xsin2x+4c082x+c @ 5t 5 +c
_[ex sin~ x o521 } dx =
- " A Jl—_xg
' . -1
A e, L _+c - B e“.sin x+c
1=~ x? -
(C) Ei.;.c : ' (D) e”. CO_S—I x+c
_[ dx__ _ \
x(x+2)
X _ 1 X _1+¢
) loglzlte B) ploslzizl*

: - log| x+2 |+ ¢
(c) loglxl+¢ D) ok
__..--"""-‘.
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E J.J aﬂﬂxz dx =

A Eva’-x’dx

2
2
a ,ia-lX
(B) 7] sin a+g

— 2
© ';-Ja -x? +B§..sm i-gf--w
- (D) "" “---sm E+¢

[121/327 |

r/2
15. Ismeéxz
- f2
@R} -1 a;rf 0
© 1 D)
Q.x* a-—x
(a) ﬁ (B] %
‘C) 23 {g) »Sa
C o om/2 .
17.  [cos2x dx =
: 0
BN B) 1.
_;‘(C) -1 (D) 2
/6 )
18, fcaax‘ cos2x dx =
0 .
, @1} Slfi 03) 1/6;
€ s/12 D) -5/12 ,
Page 7 / 32
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'i tanxdx =

A -1 Bl. 0
C) 2 D) -2
]}l : dx = |
avx

@y 2 B) n/6
€ =n/4 (D) =/2

cos™ (—%] = (o, :{'} A _Z}L

2n o n
i B . 3
T : T
€ g (D). 3
xe[-1, 1],cos“1x =
(A) %—cot_l_x (B) %-sin‘? x
(C) %—tan“l X _ - (D) %—setﬁ:—l x
xe[-1, 1],sin7} (-x) =
JAY™ —sin” x (B) sin™ x
(C) - cos™' x (D) cos™! x .
cosec lx=...... ; x21 org-1.
(A) sin” x J‘B-)/’ sin”' L
(C) cos™ x (D) cos_ljlc-
24 /A/XII-5001-(34/40) Page 8 /7
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25.

26.

27.

28.

29.

30,

(1217327 |

tan| tan'1% + tan™! ..é_} _
Y 8 o
c 2 D) 3
sin[cot" x)=
(A) 1+x° B
) 1
“ [1+x2)__3i2 U
cma'1 (cos —EE) =
- 5r
W g B %
| | | ‘
© % . D) €
—*Sindl[—-é—J=
21
@4 o0 B) 3
o =X (D) =
© 3
tan™! J3 -sec” (~2) = |
' | - b
a -3 @ 3
(€) 2n (D) =«
oo . a=b: weq day R 2
A e 6 sg=d N # R={(a,b):a=b-2,b>6} T
fPraferfaa o wft I 2
(A) (6,8)eR B) (2, 4)eR
(€) (3’8).;-1? (D) (8,7)eR
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Let R be the relation in the set N given by R={(a,b):q=

The correct answer in the following is
(A) ~ (6,8)eR B) (2 4)er
(C) (3,8)eR D) (8,7)eR
31. dx __
a® +x2
1 a B) -1x
(4) - —tan” x+c (B) tan Zre
U/ tan X +c (D) ';l;tan""‘xw
32. Isecxd_x=
(B log|secx+tanx|+c (B) . TogPhet x-tanx| + c
(C) logsecx +c uj] tan® x + ¢
33. Isecsx tanxdx =
r )
(A} Stan’x+y (B) -é—secsx+c
© Slogficos x e .(D} . tan® x + ¢
34. ([tan®xdx=
(A-) anx+xte (B tanx-x+c
C t
(€ cotxixse (D) cotx-x+c
35. cos2x do =
Icosgx.aian
A) cotx- |
W ¥-tanx+e (B) tanx-cotx+c
(C) -cotx-
anx+e (D) -tanx+c B
24/A/X1I-5001-3a740] Page 10 /3
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36.

37.

38.

39.

40.

4
If_f-l- dx =
x2+l
3
[A] -‘%— +c

(C) 2tan”! x +c

J-1—c032x dx =
1+cos2x

(A) tanx+c

&

dx _
——— -

2-3x

tanx—x+c

(A) -—3log|2-3x|+c

(C) ~-—log|2-3x|+c

xsdx_
‘[1+J\:8 -

(A) tan” x*+c

©r +tan”x’ 46

I xe*dx =

A) e"+c

(B)

(D)

(B)
D)

(B)

(D)

(B)

- (D)

(B)

or

[

.‘1’:3—- —x+2tan ' x+c

3 1

.’%—+x+2tan" X+

tanx+x+cC

—tanx+x+¢C

—-é-log| 2-3x| +c

. &

2tan.x +¢C

4

4tan"1x +C

1 _4

2tan” "’ x" +¢

x-1+c¢

e (x+1) +c

o = Bl—
p—
n_th: w""mh—-

fo—
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11 1l 1
) F _?'] ® |11
6 12 6 12.
4 8]
4 8
(C) |:6 12] (D) [_6 12:|
42. q&A:[_g 2" WB:[; 2] ?hGA—SB=
@ Y & ® | -51]
| (—-17 = - [ 17 -4
©r |-ss -g] D) l-ss -54]
If A:[_g 2] and B= [g 2] then 6 A5 B=
17 4 | 17 -
@ |5 54} (B) _1; szﬂ
© [T o [-3% 4]
(2 2 -
43, ufg A= ¢ :/; g_]?h A=
i S ]
2 -3 2 3
A J2 2
(A) 0 2/5:| B} l:\/g 27§:|
-3 ,/2 3 -2 '21
(C) -2 J2 - - 5
|-2/5 o] (D) [2‘./5 ojl
24/A/XI11-5001 ~(34/40) Fagcw
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. [121/327 |
{2 V2 0} _
fA=|, _o 2 |then A'<
I 3 -2 2 |
. "Jg -3 | o 31
N e TE ®) [J; z/s}
- 3 2
~ 3 -2 2/5]
o [4 o 2]
44, afe 2A+B+X=Q,HW? A;[*% g] 3&(3:[§ "'g]-a} X =
| ' o2} |
(A) ‘___w-'; mlgﬂ. (B) 7 13]'
(-1 =27 | 1 =2
© |27 T3] o [7 33

| S N ]
If 2A+B+X=0, where A:[Bl ﬂand Bz[l 5] then X =

i 21 @ 2
@ ~—'% -13 (B) |7 13]
-1 -27 . “ a1 =2
o |27 i3 O |7 13]
A x=3,y59 B x=1,y=9
€ x=0,y=9 | D) x=3,y=4 |
d . 2 . \ : : ‘
46, 2 £
dx(sm x): |
(A)  2sinx | By sin2x
(C) cos2x (D)  2cosx

- d
4?0 [o—— 5 : e
35 (x" +cos2x )

” : -4 |
(A}  5x*+sin2x (B) 5x + cos2x

: ‘ 5 . o
for  5x*-2sin2x .(D) x> + 28in2x
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48. _61?‘ sec ! x) =
1
(A) - 1 B —=
1= x2 xvx? -1
(C] 1 (D] _..__..1._
1+x* . xVx? -1
49, Ao gxy_
dx (a™) = _
B8y a*loga (B) a*logx
(C) a* | (D) loga
50. —;—xlog(cosx} =
(A) tanx Bl -tanx
(C) cotx (D)« —cot x
~ 51. rawhd THE Ky ), gy g—yilE:oaﬁ’ra?r%aﬁim%
_ dx? dx dx .
(A) e = 2, "] 0 B ®WR=29q=2
(C) ife=1.8a=2 (D) e =1,°9@=1
The order @and degree of the differential equation
. dgy ' dy 2 dy +
W[EFJ * x(?ﬁ?} TYax =0 s
W order = 2, degree = 1_ (B) order = 2, degree = 2
(C) order=1,degree=2 . (D) order = 1, degree = 1
d .
52. maa;amﬁa;m =2 +2y= sin x P GHTHEH T B
A) e” | B) ¥
24/A/XI1-5001-(3¢/40) Page 14 /*
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53.

54.

[121/327 ]

: . d . .
The integrating factor of the differential equation E% +2Yy=s8inx is

@A) € B &
42 e?* (D) o4x
| el AHIRTT ji-exw a2
A) e +e Y= (B) e +eV=c
€ e +eV=c (D) e +e’=c
The solution of thé differential equation %=3x+y is
(A) e +e’=c g B) e" rel=c
€ e*+e’=c (D) e*+e¥=c
el THRTT. dy i HEA R
(A) y=loglxl+c (B) *.y=cx
(C) y=xlqg]x|+cx (D). ~y=log| x|+ cx

The solution of differential equation £=% is
(A)  y=log| x [&¢ B y=ex
© y=xlog|x|+cx (D) y=log|x|+ex

a?aa?amﬂwur S roy= &>* 1 T T ]

55.
a) e B) e
Cc) e (D) e**
The integrating factor of the differential equation %%+ 2y=es" is
(A) e -
€ & | D) ¥
T 24/A/X11-5001- 34740 Page 15/ 32
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m LTI R A e [ 121/3y,
) -3
56. (47 +37 +3k).(6i-4]j tk)=
(A) 22 - By 15
(©) 21 (D) 18
—)
57. (1 +3] —2k)x (- i+3k)=
- -
AL97 -7 +3% (B) 9i+j-3
_)
© -7 +3% D) i+j-3k
58. | i-J -k |=
NN R (B) 3
C) V2 (D) 2
—
,59. J.j:
(A) O yl
- -
€ -1 D) k
- o
60. kxj =
. |
@A) - ®) 7
€ o© | D) K
61. Zx(g+:)+zx(:+3)+2x[;+g)=
A 1 (B) |
< - -1 (D) 3
- = -
62. i.(jxk)=
w1 | B) ©
© -1 D 1
———
24 /A /XI1-5001 -(34/40) Page 16/°
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Wa= i) 420 3 ) fogy f v vk w4 B
i
i1+ j+k 4 k
(A) jg (B) '+F—2k
- .
o i+] +2k T Y
( 6 o) —L=
- - -
If a=1i+] +2k, then the corresponding unit vector 3 in the

_.*
direction of a is

a) —IF% B At +2k
J6 . 7
- - -
o frieek Y EY:
1< 5 (D) <

If 3 i +_} -2k and ¢+3‘..J 3k are perpend1cular to cach other

then the value of} =

4 -3 B) -6
9/ -9 . (D) -1
65. I cot? xdx =
(A) cotx+x +k (B) -cotx+x+k
(C) -cotx-x+k " (D) cotx-x+k
- -
66. Wiyt 27-37+2k M i+4j+5k S AT W R
(4) 30° | - (B)  90°
€) 4s5° (D) -60°
T '
24 /A/XI1-5001-(34/40) Page 17 / 32 °
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67.

11213y,
- 4 - - ~> -
The angle between the vectors 2i-3j+2k and i +4 Jh+Sk iq
@  30° B oo '
(C) 45° - (D) 60°
la+g|=|3—3| =
| -3 -5 - —
A) la|=|b]| Bf  allb
-3 — a4
C alb D) Ja|=0

' e .
68. wfew 4?—4}" +7K Rl 1-2j +k w1 WA R

A) o B) 19/9
) 9/19 - (D) 19

€ projection of the vector i -2 j +k on the vector 4 i ~4 J +7i

is

A) 9 (B} 19/9
(C) 9/19 . (D) 19

69. Z=3x+5y B W AH 5 =Y x+y <2, x20,y>0 2
(A) 16 (B) 15
© o | D) A
'I:he minimum value of Z= 3.x+5y subject to- the constraints
where x +y <2, x20,y20 is
(A) 16 (B) 15

' € © (D) none of these

70.  Z=3x+ 2y FH AW et 5 wady 3x+y< 15, x20, y2 0 ¥
(A) 30 (B) 15 ?
€ 10 (D) it ¥ =g

24/A/XI11-500 1-(34/40) Page 18 /
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71.

72.

73.

[121/327 |
The maximum value of Z = 3x + 2y subject to the constraints where
3x+y<15, x20, y>0 is
(A) 30 (B) 15
() 10 (D) none of these

ﬂﬁtﬂi‘@aﬁaﬁﬁ%m L m, n 3R I, m,n %IT@TQ@*{H}WIF‘IW
gt afe

Il _m _n 1, m_ n_
— T — T — _....|.._—-|-——_0
(A) L m T n B Ttmth
(C) 12+n*'12+1r12:112 +m]2+nf’ (D) U +mmy +nn, =0

‘The direction ratios of two straight lines are I, m, nand I, m,, n,.

The lines will be perpendicular to each other if

l m _n I m. . n _
_—= —=— : B — 4 —+—=0
(A) Il m, n (B) -.!1 m{ n

(C) I2+r1'1,2+1"12=l12 +mlg'-|-n12 (DL~ iy, +mm, +nn =0

freft o Ya1 ¥ R o 1, 3, 5 Ear W # fep-wsad §

111 1,3 5
A 53% B 55 T Tss
S, s A O) T A H

© EE 7 Ts

The direction ratios-of a straight line are 1, 3, 5. Then its direction

cosines are
1 1 1 B 1 , 3 ’ 5
A 933 U/ J35° J35° J35
O = e
J35° J35° 435

9d 3x-5y+4z=11 ¥ GETR a1 TR 3

(D) none of these

(A) 3x-5y+4z=21 (B) 3x+5y+4z=25
(C) 3x+5y+4z=35 (D) ¥ Q % TE
24 /A /XI11-5001 -(34/40) Page 19 / 32

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

74.

75.

76.

[ 121/327

The equation of the plane parallel to the plane 3x-Sy+4z=1] ig

(A) 3x-5y+4z=21 (B) 3x+5y+42z=25
(C) 3x+5y+4z=35 (D) none of these
qAl 2x + y—2z=5 aft 3x-6y—2z=7 F frg w w0 }
w I ® 7
(C) cos™'(4/21) (D) cos™'(16/61)
The angle between two planes 2xr+ y-2z=5 and 3x-6y-2z=7j
w- | ® 7 |
() cos™}(4/21) (Df cos }(16/61)
g (2,1,-1) daa x-2y+42=9 N ghH 2

13 13421
A 57 (B) o
© 2 (D). & ¥ B T

The distance of (fhe plane x-2y+4z=9 from the pok
(2,1,-1)is

(A) é—?- | (B) 132@

(C) % (D) none of these

IR A T 2x=4y+32=5 AR x+2y+rz=12 TER T E @ A =
a) -2 B 2

© 3 (D) ¥ Q=g T

lf two planes 2x-4y+3z=5 and x+2y+Az=12 are mutus”

perpendicular to each other then A =

A) -2 B) 2
(C) 3 (D) none of these -
24 /A/XII-5001-(34/40) Page 20 /-
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77' uﬁm ..._.xa, 3,=-Lb._4.=n§..g_5_’m -g.jﬂ _,?:_ *Wﬂm

3 2

(A) 5a+3b+2c=0 (B) _g_,_.?!;,__.%

(C) Sa=3b=2c (D) ¥t a =i T

If the line = E_b_ =<—= ig parallel to the line -;f; %:-g—, then
,_@/ S5a+3b+2¢c=0 (B) %:.3.:%

(C) Sa=3b=2c (D) none of these

78. uR W@ x;lxl = y;1y1 =2 ;lzl , @ a,x+by+c,z+d=0 & qE@

o

(A) %=%=% (B} . ax +by+c,z=0

© aa,+bb,+cc,=0 - (D) TH AP A

If the line —o ‘;1=y;‘t’ﬂ=z;ﬁ is parallel to the plane

1 1

a,x+byy+c,z+d=0, then

a, b ¢
—Ll-l=—1l (B) ax+by+c,z=0
M =7 s 1 X +Y+6

(C) aa,+bb,+cc,=0 (D) none of these

79. ap|* 2[_[8 ?|@dx wmwd
18 x 18 6
A) 6 Br” 16
—_©© -6 _ (D) O
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i)™ 2 - 6 2 then x is equal to
18 x 18 6
(A) 6 (B) +6
| ©) -6 by O
80. -IJI—sian dx =
(A) sinx+cosx+c (B) sinx-cosx+c
(C) cos x—sinx+c (D) tanx -~ cotx+c
- )
81, x  x+1 _
x—1 X
(A) 1 (B) 0
c 2 o> -1 |
82. Al +WiFMT axb=2a+b ARWMRARN N (2+3) %42
&) 30 (B). (20
€) 18 D). 15
If the operation * is defined as a* b=2qg + b, then l.2 ‘3)aai
@ %0 B) 20
C 18 (D] : 15
1 1 —2|
83. |2 1 -3f=
2
& 2 B 1
C 0
[ D)y -1
3 -4 5
84. 1 1 -2} =
2 3 1
W0 - B) 46
(C) - 46 '
D) 1
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5 6
85. 5[7 8]=
| 25 30] ]
A 25 30
B3 8 B |35 a0
5 6] ) i
C 25 30
G lss 40 @) |25 a0
8. f:A—-B mqﬁﬁqmqﬁ
W flacs ® flA)=B
© fA)>B (D) H & +§ &
f: A—B will be an onto function, if |
A~ flA)cB (B) f(A)=B
© . flA)>B (D) None of these
87. As=layl,,, & ot ey ¥af
{A) m'='n (B) m<n
€ m>n (D)~ ] wr§ T
A-=[au ) xn 18 @ sgliare matrix if
(A .m=n B) m<n
(C) m>n (D) none of these
-3
88, [5] [1 6 -4] =
2
- [-3 -18 12] -3 -18 12]
-20 (B) 2 12. -8
w [38RA e [E
s 30 -20] 3 18 12]
-3 - 12 (D) [S 30 20
© g %g -8 12 12 8
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_ - 01
0 1] (B) [ ]
BT o] 01
- : B 1 0
0o 5] D [§ 9]
© Is o ®Flo 1,
90. AR A= [_? -g] @ adjoint A= - ‘
‘T2 5] y  [2 3]
(A)_, 1 3 (B) 1 5] .,
v 1 3] 3 (2 1]
© |2 5] O |5 3
If A=|i__?l- _g] then adjointA='
2 51 o 2l
(&) [1 3] | B |1 5]
o ] e B!
91. f‘;lqg(s&cx+tanx]=_
! .
A eerians B secx
(C) tanx . - (D)  secx+tanx
92. %( sec™ X # cosec”lx) =
A 1. Br o
< 2 | D) -1
—emm-1{l1=cos x dy
(a) 1 B) -1
1 .
@ 3z o -1 -
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If =tan“l(1‘"cosx
Y __;1?'1?) then 4y _
. dx .
A 1
1 B) -1
<€ 5
2 o -3
94, " '*T&'x= asece’yzbltanﬁ?[ﬂ‘_d_y=
b .
A -
@ asece (B) %coscce'
' b
©) EC_OtB (D) %
“Han"é ' | d
- sec ry=btan9then_£=_
b - .
{A) ESCC 9 ' | {B] %CDS@CG .
C - - —
( ) acotﬁ (D) a
95, R y-d Sin x + ./ sin¥ +,/ sinx+.. E_;'i..=
A sin x B cos Xx rs
@ -1 | | ( )
, _ o
C) COS X D .
© 2y -1 (D) 2y-1
' - —— : d
If y=Jsinx+1f sinx+ﬁ1nx+_...tow then E%=
' sinx . . {lB} CoS X
W gox . 2022
' 1
CO8 X D
© gosx O 5t
l—.—,\__ '
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a2
96. W y=x* @ L=
dx
B) 20x'
W X' (B) 20
19
(C) 380x'® Dy x
2
If y:xzﬂ then d = =
dx _ .
Aa)  x'® (B)  20x
(C) 380x!'® D) x°
97. IJ l+cos2x dx =
(A) 2 cosx+c (B) 2 sinx+e
€ ZLie (D) J2sinZ+c
x2 - 2
98, [loBXg..
X
(A) %(lngx}2 +0 (B8) --;-{logx)2+c
2 .. R
(C) = e (D) ] te
COSy X
99, dx =
=
(A) 2sindx +c B) sindx +c
(C) cosdx+c | (D) 2cosVx +¢
100. IJcosx .8inxdx= .
2 ‘ ' .
(W) Fleosxy'?+c ®) . -Z(cosx)*/? +c
(C) (cosx)*/? +¢c (D)  —(cosx)*/? +¢
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@S - § / SECTION - B

(1217327 |

. . ™ Y¥ / Short Answer Type Questions
skl 1#30‘?&?‘-”53?’??‘7?‘!3##&%? 15 gyt & Fav &1 gw av T

F ﬁ{z A& ferifer é'f https://www.bsebstudy.com 15 x2 =30
Question Nf)s. 1 to. 30 are Short Answer Type. Answer any 15 questions.
Each question carries 2 marks. 15x2 =230
1. 3 y=sin(xy) ar Y
D Yy (xyl o Freret ) 2
If y=sin(xy) then find _3_31
- - dx
2. Emam‘-raﬁ:j[ﬁzf dx . 2
v
Integrate : j(x+2]2 dx .
3. P(AUB) ¥@ iR 2p(a)=P(B)=3 3 P(a/B)=Z. 2
Bvaluate P(AUB) if 2P(A)=P(B)=-% and P(A/B) =2,
4, Fag= % 4(cot™' 3+cot™2)=nx. 2
Prove that 4(cot™! 3+coti 2) =m.
5. forg 1 1% tan! x+1an! y=tan_11“r—‘-'.%. 2
: .< ’ o1 X+
Prove that tari3® x+tan l_y::tan lf_ xé;_-f
_ /_- 75499 =)
_Ej( I} y=y sinx Eﬁdxm 2
Find %— if y=J sinx” .
7, fog I gof W R AR £(x)=8x" T g(x) =x'/* B 2
Find fog and gof if f(x)=8x"and g(x)=x'/°.
‘ s
8. TR 57437 +4k A 6i-8) —k % dra H B @ Y 2
- - - — - =
Find the angle between the vectors 5i+3 j +4k and 6i-8 j -k.
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»10.

11.

12.

13.

14.

9. wftrewiem wt Z2=20x+3y, ¥4 3x+2y<210, x20, y20. 2

Maximize Z=20x+3y, subject to 3x+2y<210,

.24y _
TA® : x dx—&.’_xy.

d
olve ! X : 2?cy

1 1 1 .
al®E |a b c|FARIARY

1 1 1
Evaluate the determinant{a b c|.

a3 b3 c3

2 =2

gfe A=[—1 3 —:],?hﬂvzaﬁﬂa AZ=A.

1 -2 -3

2 -2 -4 5
If A={-1 3 4‘.showthat A“=A.
1 -2 -3

wﬁ’xcosy=sin(x+y) at %—% et

If xcosy=sin(x+y), fiqd %

tan~ 2%, m_sin“—zii%m aEwAT B

1-x 1+x

1 2x

Differentiate tan” — with resp.ect to sin

- X

, f d

'ﬂﬁ x= 1+t2 » Y= 1-t2 at E% ﬁ‘ﬂﬁl
{ , 2 dy -

If x= 1+t%, y=y1-t° then find UM

[ 121!32”

xZO. yzo

-1 2x
1+x%

24 /A X11-5001-(34/40)

T

Pagezsfsg

Download all NOTES and PAPERS at StudentSuvidha.com |


http://studentsuvidha.com/
http://studentsuvidha.com/

[ 1217327 |
/16. q& y=xainx T‘h _g_xg ﬁm* 2
If y=xsinr, find E;_,c_
x/2 - dx
17 dx
* <l
g v ¥ T Pt 2
_ A/2
Find the value of I dx X
: o l1+vtanx _
a
18, [Ja?-x2 dx = aw frewt) 2
0
a
Find the value of j,}a2 -x? dx.
' : 0
19. ?IFﬁ x-2y+2z=6 3R 3x-6y+6z=2%ﬁaﬁz@3ﬂaﬁ| 2
Find the distance between the planes’ x-2y+2z=6 and
3x-6y+62=2. https://www.bsebstudy.com .
20. waﬂﬂmmﬁm;yaﬂtzmﬁma’mmm=
2,33 -4 2
Find the equation of tHe plane whose intercepts on the axes of
X Y, z are respectively’2, 3 and - 4. |
E,l pmmmaﬁﬁaﬁt&lﬁ x£1=y;2=z+17 3k x+4==y+9_z_1
| p 2 2 2
TR S g 2
Find the value of p so that the lines X-1_Y¥-2_2z+17 d
. 2 3 p "
+4 9 —
x2 =y“2" =zzlarcmutua.lly perpendicular.
22.  [cos®x.sinxdx F THH BRI 2
Integrate Imsa x.sinxdx.
23. Ixz‘ldximamﬁﬂ'ﬂﬁf - 92
x“+4
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25.

29.

30.

[121/327)
Eﬁ ﬁ : ﬂ:e‘t+y . 2
Solve ; cdi—yﬁe
frer wftreen wew % forg wrer 7@ A 2
X, 0 1 2 3
I T
p. 1i/8 | 3/8 3/8 1/8
! T —
Find the mean for the following probability distribution : .
X, 0 1 2 3
P . 1/8 3/8 3/8 1/8

> - .
ﬂ&§=?—}'+'£amb-2:+; +3K @ | @ + b-| TH T HK|

2
- - = = T = - = -
If a=i<j+k and b= 2i+j +3k_then find the value of
e I '
| a + b | . .
S S N
afew 3i-4j +12k & fep-F=amd Fewet) 2

: —>
Find the direction cogines of the vector 3i —4 :; +12 E .

/2 |
Ix cos xdx FNTF |
3 .

2
A2
Find the value of Ixcos-xdx.
3
sin® xdx 1 wHTREA R 2

Integrate J'sin3 xdx.
J’ dx T AT HY) )
Jx+1+?x+2 :
' dx
Integrate .
nicgr j3x+1+3x+2
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D

‘ 3N Sy
WY | 31 ¥ 38 Fie
e 5 siw fraifeg 3

Question Nos. 31 to 38 are Long
4 questions. Each question carries 5

3y. T ﬁ f% sin‘l-g- +sin! 2

/ Long
I Oy ¥

13

4 -1 5

Prove that sin™ 3 +sin

n/2

32, UH {E#H : Ilogc‘osx dx.
0

r/2
_Evaluatc : Ilog cosx dx.
. 0

33. EAR ; [1+12]%+y=tan'lx,

4 |
Solve : 2)8Y L —tan™!
olve : (1+x ]dx+y tan™ x.

d - .
34« Ez- e, 91 (siny)* =(cos xl.

dy

——
3

dx

. Find when (sipy)” =(cosx)Y

I+a 1

35. TN FMARFE R | 1 1+b

\ B S |
l1+a
1

1

Evaluate the determinant

—+8in

ﬁ+ sin

l+¢

1+b

W T hL (?—3}? +431-[(2?-}?)><(?+F31]. |

_ (1217327 |
Answer Type Questions

T a i et d S I viw &

4x5=20
Answer Type questions. Answer any

marks. 4 x5=20
-116 _ 5

—

65

-1 i_6.-=
65

z
ok

x
5

1
1

1 1

1

1 l+c}|

e e S I
Evaluate : (i -3 j +4k). (2‘“J]><(J+k]].
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D) | [121/327,
37, EadiE W Z=2x+y

vufe 5x+10y <0 , x+y21,y£- 4,x20,yz20. - | S
Minimize Z=2x+Y, | _

subject to 5x+10y £50 , x+y2L, y<4 , x>0,y 0.
38 amﬁwm%ﬁﬁmﬁwam@ﬁ 3F &1 G AA A Ty
R | s

In four throwq, with a pair of dice what ‘is the probability of
occurrence of doublets twice at least ?
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